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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Gvls—d

(Long Answer Type Questions) / (€78 IR T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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Define annual value. State the deductions that are

allowed from the annual value for computing the
income from House Property.
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Name ten items which can be included under the head
‘Income from other sources’. Which deduction are
allowed in computing taxable income under the head
‘Income from other sources’ ?
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On the basis of the following information, compute the

taxable income of Mr. Saurabh under the head ‘Salary’
for the assessment year 2017-18 :

per month
®)
(i)  Basic Pay 40,000
(i)  Dearness Pay 11,000
(iti)  Dearness Allowance 13,000
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(iv)  Entertainment Allowance 2,800
(v)  Hill Area Allowance 1,450
(vi) House Rent Allowance for

whole year 29,600

Mr. Saurabh is an Officer of the Government of U. K.
He is employed at a place at the height of 1100 metres
above the sea level. He is paying ¥ 2,800 per month as
house rent.

fefoad qoamel @ JuR W® @ 99 @l
IR-(IROT a9 2017-18 & foU ‘A’ INed B PR-
Y 3T Pl ITOT BIFTT

PIGGIH
®)

() 7 aa 40,000
(i) M Iqm 11,000
(i) TS 13,000
(iv) ARG W<l 2,800
(V) oA e W 1,450
(Vi) QU T BT HB fBRIAT Al 29,600
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What do you mean by ‘Capital Gain’ ? What are its
types ? How are they computed ?
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Section-B / Yis—4

(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

qre :

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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Explain any eight items of income which we not
included in total income.

Ul fobel 3G 3 1 #al 1 GHY ol Hol 3T H
el SISl R |

What do you mean by Previous Year ?

TA 9 W MY AT TR § 7

Explain Tax Free Prequisites.

PR Had AT Bl FHATSY |

What are the expenses which are not admissible in
determining the income from Business ?

U6 AR & AT Ml D T IR § D9
Y FHd © ?

Explain the provisions of deduction under Section
80 C.

YRT 80 C & Iq=rid aftfd dekl & UGl @l
HHSIEY |
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Mr. Gaurav got retirement from P Ltd. on 31st August,
2016. He got a pension ¥ 3,000 per month upto 31st
December, 2016. He got ¥ 2,50,000 on 1st January,
2017 as commuted value of his 70% pension. Calculate
taxable amount of pension for 2016-17 if he does not
receive gratuity at the time of retirement.

i TRT 7 31 R, 2016 BT W. fol. ¥ faarer fora|
39 ¥ 3,000 U A8 U 31 fowR, 2016 q® fAell |
1 SFARI, 2017 BT S99 70% UIH & 98t T 2,50,000
U TR YIS b | T a9 2016-17 H HRATY U Bl
IR ST DI | A SEH & T W I I
el &Il |

From the following information, compute Annual
value of the house :

3
Municipal Value 1,50,000
Fair Rent 1,80,000
Standard Rent 1,60,000
Actual Rent 2,40,000
Municipal Tax Paid 20%
Unrealised Rent (Condition Satisfied) 40,000

ffeiRad gaamell § A6M & difNd qed @ T
DI

3
TRUTfTRT 1 1,50,000
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SEGRERE! 1,80,000
Y fehvra 1,60,000
qrIfde fohxTa 2,40,000
TRUTCTHT HR GBI 20%
3T foRTaT (3 i) 40,000
Describe the provisions of Entertainment Allowance.
ARG W & U S FHST |

Section—C / gUe—TT
(Objective Type Questions) / (A& )

Note : Section ‘C’ contains ten (10) objective type

e

questions of one (01) mark each. All the questions
of this Section are compulsory.

gus T H g9 (10) TS W [ W 2| IS
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Fill in the blanks :
Reaa i @ qﬁ Eﬁﬁm :

1.

Income from growing flowers shall be ........... .

Dividend received from a domestic company
1S e :

Q_cE Hﬂol q’)H.{"I‘\I Qq, HIL('I L %l

Facility of telephone for employee is prequisites.

Wﬁwm$m ...................... ng
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Pension to a Government employee is ............ after his
retirement.

RGN WA § BRRG HHARI DI AIHTT T80 b dIg

Deduction of ¥ .......... shall be allowed as interest on
loan taken for repair and renewal of house on a after
1st April, 1999.

1 39, 1999 I AT THD qC BN B WA g
WE%]%«NWWWH%? ...................... a’ﬁav_(‘ﬁ?ﬁ
<1 Sl 2

Indicate whether the following statements are True or False :

3T DIV fob MefoiRed ®ee 99 € 7 o

6. Profit from Speculation are taxable under the head
‘Business or Profession’. (True/False)
WE B M ‘SR A W YNE & SFrid dxand
B 2 (1 / 37)

Interest on capital invested by proprietor in the
business is an admissibility expenditure. (True/False)

FIA H WH §RT @ Ty Yol TR AT A9 &

forg Wi @ 2| (A / 39)

Cost Inflation Index of financial year 1981-82 is 100.
(True/False)

fa<iTa a¥ 1981-82 BT ARTA T Fadhidh 100 7 |
GRVAENS)
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9. Dividend received from foreign company is exempt.
(True/False)

facel Hvo 9 UT AN d) qad el ¢ |
GRVENS)

10. Deduction of donation given to National Defence Fund
is 100%. (True/False)

R RET DY B A T T B HA 100% 7 |
(F / 319)
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